








An index measures the performance of a basket of securities intended to replicate a certain area 
of the market……the problem is that there are lots of indexes. 

A traditional index aligns to John Bogle’s idea of 
passive investing:
- Buy and hold a broad index
- Minimise cost
- Minimise tax through low turnover
- Simplicity

This differs from thematic or factor ETF that tracks a 
specially designed index that is intended to represent 
a certain investment characteristic or theme. 



1. Identify the exposure that you are interested in and a hypothesis of how this will help you achieve 
your goals: You are answering the ‘what’ and ‘why’. Ideally you define and understand your goal for
investing to find investments that align with your goal. 

2. Assess the ETF to determine if it provides the desired exposure: This involves going beyond the name 
and high-level description of an ETF and understanding the underlying index rules (passive) or the 
investment process (active) and how those rules are implemented by exploring current holdings. 

3. Review the drivers of end investor returns: Fees and taxes play an underappreciated role in the end
outcome for investors. Fees can be the tie breaker for two similar ETFs. Tax outcomes are driven by 
high turnover and should be considered based on tax circumstances. 

4. Distill the ETF performance drivers: This will help you understand why this ETF will perform in a certain 
way going forward and can be compared to your original hypothesis.        



1. Identify underlying index on ETF provider website

2. Go to index website to review index selection criteria which generally is based on company size or 
certain fundamental / thematic criteria. 

3. Review index weighting and rebalancing criteria. These are often related and come in three categories:

• Market capitalization weighted meaning the proportion of each constituent is based on the size of the 
company (share price multiplied by shares outstanding). Constituents will be replaced as market 
capitalization varies but no rebalancing and generally low turnover.

• Equal weighted where each constituent has the same weight. Rebalancing occurs at set intervals which 
means higher turnover as shares with relative outperformance are sold for share with relative 
underperformance.

• Fundamental weighted index where each constituent is weighted by a desired characteristic such as
dividend yield, valuation, etc. Rebalancing occurs at set intervals which may mean high turnover.   



iShares S&P 500 ETF IVV vs Vanguard MSCI International ETF VGS

Identify the exposure that you are interested in and a hypothesis of how this will help you achieve your 
goals: 

The goal is to earn the market return on global shares to diversify into companies, sectors and markets 
that are not available from the narrowly focused Australian share market. The hypothesis is that the 
diversification will be beneficial, and returns may be higher globally than in Australia given the different 
mix of companies.  



iShares S&P 500 ETF IVV vs Vanguard MSCI International ETF VGS

IVV tracks the S&P 500 index which is the 500
largest companies in the US weighted by
market capitalization. 

VGS tracks the MSCI World ex-Australian Index 
which is the 1341 largest companies across 22 
developed market countries. 

Assess the ETF to determine if it provides the desired exposure:



iShares S&P 500 ETF IVV vs Vanguard MSCI International ETF VGS

IVV country exposure

IVV sector exposure

VGS country exposure

VGS sector exposure

Assess the ETF to determine if it provides the desired exposure:



iShares S&P 500 ETF IVV vs Vanguard MSCI International ETF VGS

IVV top 10 holdings (28/2) VGS top 10 holdings (31/1)

Assess the ETF to determine if it provides the desired exposure:



iShares S&P 500 ETF IVV vs Vanguard MSCI International ETF VGS

Review the drivers of end investor returns: Neither ETF will have significant turnover given the market 
capitalization weighted nature of the index. VGS charges 0.18% and IVV charges 0.04%.

If an investor started with $10,000 and invested $10,000 a year for 20 years and earned an 8% pre-fee 
return they would end up with $957,459 in IVV and $942,273.99 in VGS. 



iShares S&P 500 ETF IVV vs Vanguard MSCI International ETF VGS

Distill the ETF performance drivers: 






